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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The function f :

- — I . -_ :
/() 1+ x ”

Options:

R R,

| One-one and onto

o onto but not one-one

is given by

gcollegeduniaa



= one-one but not onto

4 neither one-one nor onto

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

f:R-R, r(szl Y g gt we
i F i

Options:
. THF LT STEF 2 |

o STSTEF & T Usheh! e ¢ |
, THAI & T SO T o

4 97 THF T AE ADEF T

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(443 f : R>R, f(x)=—2

1+ [x

w]

Options:
1 Bs-ols i e 9,

, £ Yol 2ls-sis 2l

5 Vis-2s 8 Bl el il

wis-5 oL 2] 24 el 8l

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ifz v Z2 and z,areany three distinct complex
numbers such that z,/=1, |2,|=2, |z5 =4,

argz,=argz, Tand arg z; = arg zq

(SRIE

then ZyZ4 is equal to :

Options:

gcollegedunias



i,

5 Biz)?

= Biz.j?-
81

4 7

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

afe #1917 fm 9fmg @ 2, 2, 39

|

3

W UHR ¥ fF |z5) =1, [2)] =2, |z3|=4,
arg z, =arg z, TrﬂEﬂ’arB Zy = arg zy 4 %,
ﬁlzzzaﬂﬂﬁ'{%:
Options:
8i
R
1. A
T
5 BtzI
= R
2 Biz,
81
2
2y o]

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

od 2, z, 2l zy 2 2l slS e B s
el giu b odll [z =1, z,|=2, |z =4,

arg zy =argz) —m i arg z3 = argz; 4

o | =

2y, dl ZyZa=_ 2

Options:
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-
> Biz,

- 7
= Biz,
8i
2
4. 4

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If 2 is a root of ax® +bx +¢=0, B is a root
of axr?— 2bx — ¢ =0, and the real numbers a,
b, c (a=0), are such that < «; then a root vy
of ax®+4bx +2c=0 always satisfies :

Options:
o<y <2B

> P<y<a
y<p=<a

4 P<a<y

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afg ax2+bx+c=0 FT TF Jd 2a ¥,
ax2 — 2bx — c=0 1 UF qA § & a9 IRATAF
T=4 a, b, ¢, (a>0) SHYFR & B <o, A1
axZ +4bx + 2c= 0 T UF JoA v Hal T F4
#:
Options:

a<vy<2p

o P<y<a
y<p<a

P<oa<vy

N

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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sd axZ+bx+c=0 -L wsoley 20 4

ax2 —2bx —c=0+ =i ollsr 3 €14, @™l a, b, ¢

(a>0) =i =il diclels Hvail © % el p <o

A4, dl ax? +4bx +2c=0 - 215 ol v €1
A M.

Options:

2

e

4,

a<vy<2f
B<y<a
y<p<a

B<oa<vy

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

)
If B:[ 2 '] and A is a malrix such

1 0

that A= B=B!and kA" 1=2B"1+1,
where k is some scalar and I is the 2 x 2
identity matrix, then the value of k is:

Options:

1.

2

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

?ﬂ;c{Bz[ ? ﬂ 9T AT A SHTFR

fFA1B=B ! 3iRKkA !=2B"1+1 Wik
ﬁﬂﬁﬂ{scalm}%ﬁﬂl,sz EOlGEILED
(identity) 331131‘-5'% TkFAAD

Options:

1.

2
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Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
5" 3 = . mpiEscm w
sd B= . e A 518 @il Al B 5

Ul A"IB=B 2 kA 1=2B ! {1, sl
k 518 2ol 2 T 24 2 2 AL 2l a8 dx,

-,

dl k Al Bud 89,

Options:
1, —2

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If for positive real numbers a, b and c, the
system ol linear equations

x=a(y+z),y=b(z+x), z=clx+y)
has non-trivial solutions, then
1 1 1

t |
1+a 1+b 1+
Opt?ons:

% is equal to:

gcollegedunias



Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Ife o Frafas HEnEi a, b 99 ¢ F

fau s gt %™ v=a(y +2),

y=b(z +x),z=c(xA y}aﬁﬁg@{nnn-u‘wiah
4 1 1

1 | f =L B :
E—Q_'f%'r’?ﬁlm 1+b 1+4c g

Options:
3
i ‘&

o
@

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

9 Aicldd vl a, b 24 ¢ 42, o Y
wylszel deld x=a(y+z), y=b(z+x),
z=c(x+y) A4 Hioy Gsal (non-trivial
solutions) t';il{, dl

1 | 1 | 1
1+a 1%b T4e¢ —
Opt_ions:
3
j
> 3
3 2
1
4 2

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Let (1+x)"=Cy+Cix+Cx* +.... + C a"
where C_="C_and (C,+C ) +C))....
(C,_1+C)=ACL,...C . Thenforn=53,
A isequal to:

Options:

1 324/5

5 3125/24
3 128/3

4 625/24

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT (1+2)*=Cy+ Cx + Cox* +.... + C 2",
W&l C =1C, 91 (Cy+C,)(C; +Cy).o..
(C,_,+C,)=ACC,..C, @ n=5 ¥ feu
A T E

Options:

, 324/5

5 3125/24
3 128/3

4 625/24

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
QRL S (1420 =Cy+Cx +Cyx2 +.... + C x™
sedl C =1C, @ (Cy+Cy)(Cy+Cy).nen

(C,_1+C,)=ACG,...C,, 8L cll n=5 3k
A:

Options:
| 324/5
5 3125/24

5 128/3

4 625/24
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Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For 'B:J-{], if the coefficient of x> in the
binomial expansion of (1 +px)® and the
coefficient of x? in the binomial expansion
of (1 px)® are equal, then the value of
is :
Options:
. b

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

B=0 & Taw, Ife (1 +px)° = fo7g THR H 13
= T a4l (1 - Bx)® & f5ue war | o4 &
T A B, 1 F A E

Options:

- ¥

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
B0 M2 oA (14 px)0 AL [gugl [Cedremi «
Al 42|15 2 (1 - Br)® AL [guel [Eadremi
Al MR HHIA L B AL Bud
8.

Options:

1. 1/7
> —2/7

gcollegedunias



Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For distinct positive numbers a, band ¢, if
a2, b?, 2 are in A.P., then which one of the
following triplets is also in A.P.?

Options:
1 1 1

F r

1. b—¢c ¢—a a-b

1 1 1
3_‘|:1|4t: c+a a+b

1 1 1
4 b+2c" c+2a a+2b

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o g arafas 9Ensi o, b dM ¢ &
fera, afz a2, b2, &2 w9 991 | €, o fre o
T FH | (wiplet) *ff THFE J¢1 H &7

Options:
1 1 1

r r

1. b—¢c ¢—a a-b

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 chollegedunias



(Gt £t vyl a b il © W2 od aZ bZ 2
Hicz el (AP.) Al €, ol ARzl 54 =
e #HicR el (AP.) wl €Ml

Options:
1 1 1

r r

1. b—¢c ¢—a a-—b

1 1 1

¥

2_‘ﬂq::ah-::a

1 1 1
3_‘bl«: c+a a+b

1 1 1
4 b+2c" c+2a" a+2b

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let S, be the sum of the first n - terms of

the series

12+2:52+324+ 272452+ 292 + ...

If 53}: 20 A, then A is equal to :

Notceir_:dFor this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
canaidates.

Options:
1. 1851

<~ 1951

5 2001

4 2019

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HAT H0 12+ 2524+ 32 4+ 272+ 524292 .,
% WO n W& HAMS, TGS, = 20A,
A T E

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1. 1851

gcollegedunias



<~ 1951

5 2001

4 2019

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

ALy Edl 124 252 + 324 2:72 452 4 2.924
AL M2 n YElAL HRAUALS, B, s Sy= 20 A
G, dl A=

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
Options:
1. 1851

= 1951

5 2001

4 2019

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Let m and k be positive integers (m'« k).

Then
. I

lim n Il fi|
n—ean L n.
Options:
i i

KK +1
. 2

.tlifltl 1)k

3 2

4 km

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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AFT m 997 k HAEE qOE € (mek)

l*'L]m "'r l-i-E 1|1TI +

r-]nj—]r]-:t-” {{ n. '- n.J
2

Options:

1. 0
—k(k + I}m

2. 2

.m{m F1)k

= 2

4 km

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-

T2 I, 't n./

Options:

1. 0
—k(k + I}m

2, 2

.m{m F1)k

o 2

4 km

sl m 24 k 44 youlsi €4 (mak), dl

i i : - o + I
lim n {{HL J l*;j] = '3'(1 ” £| ="

n./

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i

1/

| ex—e

For f(x) = {le.‘s’f -
| 0

Options:

1 SO=1

SX

s

gcollegedunias



2. f(0)=0
z fis not continuous at 0

4 [is not differentiable at 0

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

X r— xrE0 .. .

,H-"L}z J‘!. E..I:x | D-!;“:
| 0 ., x=0

Options:
. S0 =1
> f(0)=0
, x=0 T [T T 2
, ¥=0 R f sk 7 2

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

[ 1 -1/

f(x) = J;_r—e}_x. } f_.'I":. , xXx#0
| 0 . 3 |
Hi2
Options:
1 Fo)=1
, [1(0)=0

F210 21 Hdd -2l

o [0 [Bsardl -l

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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x
Let F(x) = [ f(t) dt, where

flx)=2 + sinx — cosx. If
F(x) —F(y)| = kx—y| for all x and y in R,
then a possible value of k is :

Options:

24 2

5 2—42

1+ L
2, 2
 WZ=1

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A E(x) = [ f(t) dt, @l

0
flx) =2+ sinx — cosx. E‘ﬁ!ﬂﬁﬂ“ﬂxﬁmy
% U [F(x) - F(y) = klx—y, @ k & T
e 5 ®

Options:

34 o2
, 242

{4 >
2, V2

W21

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X
QEls F(x) = [f(H)dt sl
0
flx}) =2+ sinx — cosx ©. od R AL 445 x
2y W2 [F(x) ~ F(y)| = kv —y €, dl k-l
walbud 8. P collegedunia



Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A real valued function

flx) =C£Dge 1l +Dxd 4+ x, x20, where C and
D are constants, has critical points atx = — 1
and x=2. Then the ordered pair (C, D) is::

Options:

1 2
53

'[2 1
> \3" 9

_-_-_._H\'

WD | =

| k2
m!

20 4
{ 2 1)
o\ 3 5)

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Uk Ardiasd 51 Fed

fix)=C log x|+ Dx®+x, x 0, el C 991 D
IR, W x= -1 9 x=2 W Fifq®w fag
(critical points) &, 1 siad H (C, D) EE

Options:

1 2
53

gcollegedunias



Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

cllEs [[E fix)
oAl [0S Hogl x=
A D BAUN Y.

(G D)=

Options:

[~2

—
LI k2
WO | =
- -

_-_-_._\\'
o | =
| k3
—

—
L3 | k3
WO =
T

=Clog,|x| Dx?+x, x20,
1¥dx=2 &6l C
1 sM4sd ads

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

if f(x) = jiioge{

313
of f( }15
0
Options:
1 e2—1

5 STDgES

gcollegedunias



Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X
e

afe f(x) = .[Iﬂge[

e

X

e 5 3G
dt 5 3f'C
, Wl Bl
EDBetJ e

HHE
Options:
1. e2—1

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[ =

X

st J(X)

’ < 3PEy
1 dt .
ogf[ Iﬂget} pl = 4

e

Options:
3
1. e=—1

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o

: 3
The valueof the integral -I.Sm[

—Jd}_ is :
| sin(1)

™/

e}

. Qcollegedunias
Options: TS s S st



=

-3

1. 2
i13
2
)
49
3 2
';'1
22

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

™
] 31,
FA fﬁTJ__:;l:jx FHA
sin(%)
Options: _
= -2
1:
i3
&
5
45
g 2
IR
4 2

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

™ sy
HisRid j sin( %) B
| sin(7)

8.
Options:

|

o
3 |
(%]

Sk

2.
Qcollegedunias



I\Jl:]

|

-
b3 |

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The area (in sq. units) of the region bounded

by the curve Jx + ﬁ =1,x,y =0, and

B
1 1
the tangent to it at the point | P | is :
4 '—l,»'
Options:
1

1. 36

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TF A +Jy =1, 1,y = 0 7 375F fag

-"i i} [ - - -
L T T9F G g T 43 1 &9
L = 37
(= SoFTEal H) ¥
Options:

1

1 36

Qcollegedunias



Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
W Vx4 fy=1,xy =0 @ dd (&g

1 1 i - —
[I' ﬂ AP R 2MES 45 Y MEdd
A° )

slas (=L Sisnul) 8.

Options:
1
1 36

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The solution of the differential equation

i sin 24
gy | gney — y3cos?
dx X

(where C is a constant of integration)

Y, is:

Options:
[
5 x
x“tany = — +C
1, 6
4
7 x
x"tany=— +C
2. : 4
s
9 X
x"cos2y=— +C
3. 6
fy
x
)LEEH“IELJ = — 4+ C
4 6

gcollegedunias



Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

n d sin 2
e THE =2 + —7 = x3cos?y
dx x |
T
(vEfF C U A A T)
Options:
6
xztanl; = Z g
1 ‘ b
4
2 tany = LW
z. ‘ 4
6
xzcoszy o
= ‘ 6
B
xgsmzu = L - C
4. . b

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i sin 21 .
[asa wdlset a” I Tf :xgcnszy -l

-

Gy £,
(sl C =4 dstrdl 2Ruis 8. )

Options:
b
2 x
*“tany=— +C
1. 6
4
2 x
x*tany=— +C
2, ‘ 4
6
2 X
X“cos2y=— +C
= ‘ 6
b
%, x
x sin2y=— +C
4 i

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine Q' actinn Mintinn -
No Option Orientation : Vertical
Qcollegedunias

Correct Marks: 4 WrongMarks: 1



Let P;, PP, be any two points on a circle of
radius r centred at the origin O, such that

ZP,OP. =; If P is the point of

intersection of the tangents to the circle at
P'I and Pzr then the locus of the point P, is :

Options:
1. 3% ) =4r

> A +y7)=3r"

s

2 =<y
4.,\.’}‘1;2 3r

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A P, 1 P,, U& I Toge! 541 r 991 %%
qafag 0 8, W fega 3 fag & awn
¥, "Im’zz%% afe P g4 % fagsii P, @

P,, R i € et Tt 1 wrwe fig &,
a1 P =1 faga9 (locus) # :

Options:

1 374y =4r°

> a2 +y?)=3r?

L PP =ar

2 -
i % Fy?=3r

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

QLS Py 24 P, 2L r Bseion 24 Gorilelg
O Segaltl wdil Yzl wiell 516 o 5=l 8 %

i13

w¥l Z/P,OP, = 7 od P, @4 P, 20140

g ERe uRisld Sellg P e, ol (55 P Al
(Gigua 8.

gcollegedunias



Options:
1 3y =4r°

o> 4% +y?)=3r2

g N g B
5 X Fy==4r

2 s
i X Fy2=3r

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[f any tangent to the parabola x2=4y
intersects the hyperbola xy=2 at two
points P and Q, then the mid-point of line
segment PQ lies on a parabola with axis
along :

Options:
1 x-axis and focus on positive x-axis

5 x-axis and focus on negative x-axis

2 y-axis and focus on negative y-axis

4 V-axis and focus on positive y-axis

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Tt T 12 =4y 1 H1s O [ Afda=ed
xy=2 I < fagsli P aen Q W et €,
TEmETE PQ W HEAfEg U Weaerd W e ¥
Toraet 147 -

Options:
1-3181 F Ifew 2 a9 fam=wi A1ty
| AT x-3E W

38 F eEfew ® aun fagst iy
o HEE x-AF WE|

y-F T arfew € aw fowst iy
L N y-AE WL
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y-3181 F srfew T aw famst Ay

, T y-AE W E

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Yaee 12 =4y -l 518 242ls, 2ildsad =2
of [Met (G52l P 2l Q i 82 &, dl wuiis
PQ - el o wread w2 @i o Ryl
2

Options:

L XA A AU A - R D

-8, i, AU SOl e Y3 8,

5 Y-AEL e AU by B

s i AUl y-E YR &.
.

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I[f m and n are the lengths of the
perpendicular from the origin to the
straight lines whose equations are
xcoth — y=2cosh and

i:t b3y = -5 cos 20, (6 € (0,7)),
respectively, then the value of m-+ 5n-is :

Options:
13

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Ife m T4 n FHI: T@E 99 THIEW
xcooth yzEcosl! GE

.43( + 3y = J5cos20, (0 € (0,7)) T HeAfeg
q @il T weEd el & dadi €,
m2+5n FTHE 2

Options:

1. 3

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
s m 24 n 21 253 Gor(eiguiall sl wailsa
xcoth — y=2cosb **t:{iﬁ. t 3y = J5 cos 20,
(e (0,m) € cell 2vumil yarl doil dendil

€, dl m2 +5n2 Al Bua £9.
Options:

1. 3

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If an ellipse has its foci at (2, 0) and ( — 2, 0)
and its length of the latus rectum is 6, then
the equation of the ellipse is :

Options:
o, 2
l__ | ]J"_ =1
1 16 12
1.2 2
5 24 64
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5 36 18
2 2
464 24

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Ife Wk <9 I AT (2, 0) T (-2, 0) W
T A1 59 A FI T 6 2, A ST F

ELicTu s
Options:

2 ]2

J‘__ | v"r_=1
1 16 12

1_2 2
5 24 64

xE 12

Y
s 36 18

2 2

LY
4 64 24

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

2is GuadsHl AUt (2,0) 244 (- 2,0) © da
Al dend 6 9, dl 21 Gusaud uHlswel

9.
Options:
2 ]2
1 16 12
x2 2
s P
5 24 64
xz 12
Y
= 36 18
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2

2
¥
4 64 24

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let C be the circle whose diameter is the
line segment formed by the line 3x +2y==6
intercepted by the coordinate axes. Then
C also passes through the point :

Options:
1 (1)

2 8.2)
= (2,3)

4 2,2)

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
WC%%%WWW 3x+2y==6
=1 fAEena 1sii | 91 sF=ave, ¥ @ C 5|
ﬁgﬁﬁmm%ﬂa%

Options:

1 (1,1)

, 3,2)
z Z,3)

4 2.2)

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

BRLS U 3x + 2y =6 AL A5 gIRL SWEE DLViS
oell SIH €14 A S C 8. dlC #

(G5 el weL yur 2 ©,

Options:

1 (1,1)
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2 6.2)
= (2,3)

4 2.2)

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The distance of the point (1, 2, 3) from the
plane x+ y +z =2 measured parallel to the
x+1 Ui z—3

Ii = == — is -
ne 1 2 1 15

Options:

-
1s -

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fog (1,2,3) # 9Aad x +y +z=2 H == g

S = | 1f z—=3 ., T
W= == = 1 fegn = =
TR

Options:

R

2. V22

4 22

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Qcollegedunias



(G (1,2 3) 4 ¥Hdd x+y+z=2 | 2w

x+1 1y z—3 . . -
- PR A WAz 2l we

1 2 1
{3 .
Options:

. V21
2 +22
3. 23
4 24

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The value of o for which the shortest
distance between the lines represented by
y+z=0z+x=0andx+y=0, x+y+z=«
is1,is:

Options:
3
RE

[
> V3

2
3 V3
e
4, \/2

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
uﬁlaﬁqﬁmmy}rf_:ﬂ,z Fx=0 3
x+y=0, x+y+z=u Emﬂffﬁ"lﬁﬁﬁl?ﬁ?ﬁ
T FH FAE1E, T

Options:
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| W3]

W | i

P2
-

| ra

| W3]

R

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

y+z=0,z4 x=0 24 x 1 y=0 x+ty+tz=«
el galletedl Yol sz dsriy iR 1 €l dl
o+l Bua 8.

Options:

5
5

wa | O]

| K

\F
4. V2

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Qcollegedunias



C be a vector such that
— —> 3  —» —
a¢ =|el |e a =2«,,E and the angle

- - —
between a * b and ¢ is 30°, then the

(L sl il

value of ig
Options:

1

i; 2

STESN

W
=

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
— A A

q a =2i + |

A

M, —¥ .
2kAMb =i + j B

—F — —* —F
e a=2d’§%?ﬁﬂaxb

qgqT ¢ F ATE FH OFIT 30° B, A

a xblxc
Options:
1

jy 2

FIHAE

b | L

M
(8]
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Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
— A A .

v Tt —¥ Y i
Wills a=2i +j-2k@lb=i+j

™

89, Y3l &

iy
c

— —F —F —
C|

._} = B - -\. —+ — —¥
d2l © SRl WEL307 2L di(a b h) c

Al B &.

Options:
1

1; 2

STESN

W
=]

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A and B try to hit a target. The probability

that A hits the target is ?f and the
/10

probability that B hits the target is ff; 0" If

these two events are independent, the
probability that B hits the target, given that
the target is hit, is :

Options:
17

1 41
18
5> 41
19
3. 41

20
4 41

gcollegedunias



Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT BUSF A H TS FITH FLE1 A

F e W J24 T WA %ﬂ TAMB F
% Fl ﬁaﬁaﬁ’rmﬁaﬁr%{u 2| ofs == 3
H2AM0 =aF 2 A1 OiaEdl, 5 B 55 9= %L
et fom & ff o 1 YeA g, B

Options:
17

1 41

18
5 41

19
3 41

20
4 41

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AuAdBslE aiAds s, A -l asm dgsHdl

M o4l ?}{ 0 24 B Al a8 daeuddl deual
j;{ 0 S, sl 2L L sl Feis M dl ast
SLEEL 5 dH 20 E R B e 98 dHl deuse

<

Options:
17

1 41

18
5 41

19
3 41
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20
4 41

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Let xy, x5,...., X5 be 20 observations and
d. —2( x.—5),i=12,..., 20. If the mean and
Varran{:e of dy, d,.....d,; are 20 and 12
respectively, then the mean and variance
of Xy, Xnyewnny Xpp @re IDSP{}CUVEI}’,

Options:
1 10and 4
5 15and 3

5 10and3

i 15and 4

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

HA Xy, Yooy Xpgy 20 FHNE T A, =2(x, - 5),
i=12,..,20 ¥l 3Rd, dy...d,, F1 A=
AT FER FHA: 20 T 12 7, W xp, 29yt

F FHHY: A a9 GHI0 E
Options:
1 10 991 4

5 15 941 3

2 10 941 3

4 15 941 4

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

= -

QRL 5 20 A9dlsAl Xy, Xppe X B A
d;=2(x;~5),i=12,..,20 8. oddy,d;....dn
AL ey 2 (BR300 24453 20 244 12 €, ol
Xy XogpeXpg AL HEHS 2 [0 253

5.
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Options:
10 >4

5 1513

5 10 @4 3

15 24 4
4,

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
; : .

4 .
If cos(a + B) = Eand sin(a — B) = 13

b

T
where HFBE{UF ZJ' then the value of

tan 2o is :

Options:
56

33

54

33

55

33

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 X _ 5
g cos(a + B) = T ql sin(a — ) = B

ar
% waf® afBE{{l IJ' Al tan 2a 1 HH
T
Options:
5_5
1 33
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Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

5 4 5
O FR = — 1 )= — =
A cos(a +B)= 2, sinfa — B) = = =12

a,Pe {{J, %J dltan2a Al Baa

8.
Options:
56
33

54
33

55
33

58
33

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Two parallel chords are drawn on the same
side of the centre of a circle of radius 20. It
is found that they subtend 60° and 120°
angles at the centre of the circle. Then the
perpendicular distance between the chords
is :

Options:

; 10(v2 — 1)

gcollegedunias



Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

5 20 911 UF 99 F 5 F UH o AN A
TR Sam i T E | g I e A
AT 79 % % T 60° T 120° F FH afia
FA & | o SHaned & 9rg i daad gi ©
Options:

lm(ﬁ 1)

5(+/3 — 1)

_ 10(+/3 - 1)

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

20 Blsctenl 215 aquirl SegeAl wiger cisy=i o
HHIA? el ERd B, 21 el ddadl b
BPLL 60° A 1207 AL WU 2idd 8. 2L o
el o2l et widy 5.
Opj[ions:

, 10(v2 — 1)

53 - 1)

z.

_ 10(+/3 - 1)

3
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53 +1)
4

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The compound statement

.{ﬂ- CAAABYV(~CAa~AAaBv(CaAb)
is equivalent to :

Options:

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= 19 F97
.{“'{:_-.f‘x."'"u.-’x"i_\]‘-.-‘{“'{-.:.r‘x ~AnaB)v(CnabB)
=1 H forges o9 272

Options:

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

H{ysd (e
(~CAAAB)V(~Ca~AAB)v(CnaB)
S R B )

Options:

1. A
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Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:
Group All Questions:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Aptitude Test

416529194
2

Online
Mandatory
8

8

200

Yes

No

1
416529256
Yes

Directions : The problem figure shows the top view of an object. Identify the correct elevation from

amongst the answer figures looking in the direction of the arrow.

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—

Options:

Qcollegedunias



L

4,

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

||

Options:

.

)
_

2. |
-

=
m

4, -

gcolleg dunias



Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 34 Question Type
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

gcollegeduniar



2.
o P
. My, ¥
NN S
=,
SE /|
W
4,

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[~

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Juestion Label - Comprehension

99T : wo sefa | Tt avg &1 S04 S99 T @ & | i i T ¥ SEd gu S Al § § s
TE TR gYF TeEn |

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine( gcolle H&hriay
No Option Orientation : Vertical % el e



Correct Marks: 4 WrongMarks: 1

—

Options:

=
LS
il

|
L

4.

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

||

Options:

L

gcollegeduniar



2
—
s
1

4

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

gcollegeduniar



Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S "1._
Options:
At
., R
o
1.
A~ \,_ _/" "" 4
__.l'
1
2.
o -"r"-
y P
\\_‘_.l' ) .)
. v
=,
/A."\\/_,r . .I'_J
\
4,

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[~

Options:

gLzl
et
o

gcollegeduniar



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

HAAL 1 WL wiigld s useld Gludl g v 8. dlkedl Bl sddl wad Wz Geid 524 svsuot wug(cainiEll
5] 2L,

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—

Options:

=L
ks
frads

|
L

4.

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gcollegeduniar



Options:

.

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

gcolleg dunias



Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
At
- P
\x.f'f
1.
PN F
".I'
|
Z.
Floa __,."1_‘
L k% /]
¥ \/
o
x\\; v
W
4

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gcollegeduniar
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Options:

T [ I [

Sub-Section Number: 2
Sub-Section 1d: 416529257
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 40)
Cesticn Label | Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.
Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-
- -
i
i

il 5
h'\.--"-' J

Options: Qcollegeduniaﬁ



—
1.
2)

—
3

—
4,

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P

Options:

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.-"'.H.H'"
.-"J. -'"'-EJ
L -
A |
4
[
“:ﬂh""-mf""r:a"fj]
T R
HIH“'JH"-.""-\.[«"-'P-"
I'-'T.-\'-"\-\,
W
Options:
1.
2.
[ T]
=3

Qcollegedunias



Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o #
by o [
L -'

a,] s
Options: )
I
| T
R
, 01
[
1
l'i
a L1 ]

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 40)
Juestion Label - Comprehension

fdet : 3 - D wee 5pfa # U o F UF 399 H fo@m T ¥ A F S ° g6 g, THE 9eE g
w1 ST SATHTE H F Jed |

Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2 {]
.f Bt P ___{
:-\-.___ ___.--":'__,.-‘x_::‘

.
Qcollegedunlas



Options:

—
1.
2)

—
3

—
4,

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

... "H_H k ..___.--""..d__..-"I
Options:
I
1.
—
Z.
=3
4,

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gcollegeduniar



Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.-"'.H.H'"
.-"J. -'"'-EJ
L -
A |
4
[
“:ﬂh""-mf""r:a"fj]
T R
HIH“'JH"-.""-\.[«"-'P-"
I'-'T.-\'-"\-\,
W
Options:
1.
2.
[ T]
=3

Qcollegedunias



Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A~

Lf
5
-~]

Options:

1 1 A sl

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 40)
Juestion Label - Comprehension

¥ :3-D 2150 25 ugel g2 oA . dladl Bl sadl wad 2 wxyu g sretiod suglailuil 45
53,

Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
2 a
£ ‘* >
_:"w. ”"f,.-"'ﬂ‘.h

.
Qcollegedunias



Options:

—
1.
2)

—
3

—
4,

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

... "H_H k ..___.--""..d__..-"I
Options:
I
1.
—
Z.
=3
4,

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gcollegeduniar



Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.-"'.H.H'"
.-"J. -'"'-EJ
L -
A |
4
[
“:ﬂh""-mf""r:a"fj]
T R
HIH“'JH"-.""-\.[«"-'P-"
I'-'T.-\'-"\-\,
W
Options:
1.
2.
[ T]
=3

Qcollegedunias



Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

P

""«.L[.-'"-Hx.
"~ e ¥
" -
b T
"'\-\.H .___.-" =
o
"'\-\.H.
e

Options:

1 e B i

Sub-Section Number : 3
Sub-Section I1d: 416529258
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (41to 45)

Juestion Label - Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Qcollegedunias
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Qcollegedunias



Jus

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (41to 45)

Juestion Label - Comprehension

F9E9T : 3- D 9w sirfa d U ovq o U gv9 o femr ¥ e 6 fown ¥ S wn, sue 9 g
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Sub questions

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Qcollegedunias



Jus

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (41to 45)
Juestion Label - Comprehension

Yl 1 3- D U5l =is wgizid ge ddid . dladl B sddi wod 2 2y §eL ereiol 2agldaiuiz 4l
53
Sub questions

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Qcollegedunias
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T P
Tﬁﬂ’lﬁ
PPy
<3 H“-h .--"r---..-f"{3
"'\-\._\_\H _,-"' 5
B T L
o
Options:
1.
1]
5 |
= ||
4,

gcollegedunias



Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Qcollegedunias



Jus

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Sub-Section Number : 4
Sub-Section 1d: 416529259
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Juestion Label - Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct top view from amongst
the answer figures.

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine( .
No Option Orientation : Vertical Qﬁf{ﬂﬁ%ﬁﬁj{ﬂ]ﬁ



Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 47 Question Type
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Juestion Label - Comprehension

89T : 3- D W9 Ahfd H U o & U g¥F & @ @1 €1 SHE e U gYF, S Afadi ° 9
T |
Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Cuesticon Label | Comprehension

YAl 1 3- D 2ugld 215 ugeld g2 v 8. st 2uglamiiuial Wi GrEl g A%l s

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Qcollegedunias



Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Sub-Section Number: 5
Sub-Section 1d: 416529260
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Cuesticon Label | Comprehension

Directions : Which one of the answer figure is the correct mirror image of the problem figure with
respect to X- X7

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gcollegeduniaa
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

2
—

(X)

Options:

R R

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

gcollegedunia;



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)

ouestion Label | Comprehension
a9 : S STl H | Wl et & e we st X - X § weEtya we gi gfafa €2
Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51to55)
Juestion Label @ Comprehension

Yl : W 2l X - XA ks 2l ulalte sycpor wagldeaamial s aa)

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number: 6
Sub-Section 1d: 416529261
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Juestion Label | Comprehension

Directions : Find the odd figure out of the answer figures given
below :

Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Options:

gcollegedunias



options are chosen.

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:

options are chosen.

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

"
Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any

collegedunias



Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Qcollegedunias



: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

Question Number : 60 Question Type
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (56 to 60)
Juestion Label | Comprehension
L [ Tk Tg Ty " T
T9e9T : = <t T SR ssfaal § 9 fauy st et
Sub questions
Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

gcollegeduniaa
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Qcollegedunias



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Juestion Label - Comprehension

Yl : Al 2uid oveied suglamiviel (B (odd) =ugld 2l
Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Options:
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Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Qcollegedunias



Sub-Section Number: 7
Sub-Section Id: 416529262
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61to 65)
Juestion Label @ Comprehension

Directions : One of the following answer figure is hidden in the problem figure in the same size and
direction. Select the correct one.

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine( Q fRdgn s
No Option Orientation : Vertical concioe La et



Correct Marks: 4 WrongMarks: 1

Options:

1.

i
, O
N2
7

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S

| [ =

Options:

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

gcollegeduniaa



4. 4
Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
]

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)
Juestion Label - Comprehension

9T : 9 <1 TH SR SATHaFl § | U SATFG A9 AR few # wHE w9 9 9y Apfa J g T e |l

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Qcollegedunias
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

S

g, —

N

L]

Options:

el

. U

gcollegeduniaa



.

4 3

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
]

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: N¢ Q ——
Question Numbers: (61 to 65) o i



Cuesticon Label | Comprehension
ML : ovellod wigldaiuiql 2is sugld Bler und 2 [Fa Al wi 2ugldul gumid 9. sl svsel WAL

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=

Options:

1.

=
> <

.o
y L

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 Qcollegeduniaﬁ
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Options:

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

]

Options:

Y
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Sub-Section Number: 8
Sub-Section Id: 416529263
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following is a primary
color ?

Options:

1 Purple

> Orange

= Red

4 Green

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[n the Northern Hemisphere the winter sun
rises from which direction amongst the
following ?

Options:

1 Morth East

5 MNorth West

Qcollegedunias



= South East

4 South West

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A byte is which one of the following ?

Options:
1 A group of stars

5 A unit of digital memory
5 An act of an acrobat

4 A unit of sound

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

What does the abbreviation [SEC stand for
amongst the following ?

Options:
1 Indian Studies and Result Office

5 International Sea and Rain Office

= Indian Space Research Organization

International Settlements and Relief
4 Organization

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
What does the abbreviation NASA stand
for amongst the following ?

Options:
National Architecture and Science
1 Association

National Archeology Studies
> Academy

gcollegedunias



National Aeronautics and Space
z  Administration

4 National Artand Science Association

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the following is a horizontal
element that supports the loads above
openings in walls in a building ?

Options:

L Lintel

> Column
= Foundation

4 Pillar

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which color amongst the following
represents danger ?

Options:
1 Black

5 Green

z Red

4 White

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which Indian city is abutting the Arabian
Sea ?

Options:
1 Kolkala

= Mumbai

z Chennai

gcollegedunias



4 Sural

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In which of the following Indian city are
the ‘Shaking Minarets’ located ?

Options:
1 Hyvderabad

> Lucknow

=z  Ahmedabad

4 Delhi

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In which of the following Indian city is the
‘Bara Immambara’ located ?

Options:
1 Hyderabad

> Lucknow

= Ahmedabad

4 Delhi

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Cavity walls are which one of the
following ?

Options:

1 Walls with holes

5 Walls with air gap
= Walls with windows

a5 Walls with doors

Qcollegedunias



Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Green buildings are associated with which
of the following :

Options:
; Landscape

> Beauty

5 Environmental suitability

. Location

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Frame structure in high rise building
pertains to which one of the following ?
Options:
1 Structure with squares on the facade

5 Columns and Beams structure

= Load bearing wall structure

4 4 square building

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Chajjas above windows are meant to
protect the building from which of the
following ?

Options:

1 Wind

o Birds
z Sun

3 Typhoon

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Q1actinn Mintinn -
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 Qm”egeduma



Which one of the following is not a planned
city 7

Options:

1 Gandhi nagar

5 Chandigarh

2 Bhubaneshwar

4 Kanpur

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Juestion Label - Comprehension

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FreAfafad 8 9 %13 o1 31 wafHF 272

Options:

1. ;W- [a

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
o feon 4 s &7
Options:

T

zaﬁwﬁaﬁ

L SrEmE

4 TIEY qFEH
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TS e feAfafEa f g FA m E?
Options:

y, TS O

5 UH Ukl 1 UF Afaf=m

, A 1 T T

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
fr=fafag ¥ 9 fe & fau 9499 9 [SRO @2
g7

Options:
| AT 1erE #ir ufos FaieE

o WRETS SfaRes ST H2

4_a#aﬁt§”r£:ﬁm€maﬂiﬁﬂw

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
frrefarfaa § & NASA =1 dfere =9 =1 22

Options:

1

, T A I STt

4 TIEE AR U HEH THHTIH
Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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freAfafad # T = o1 Afas 7 ¢ o1 saRd 3
Sl H e ST AR T e 2
Options:

1. g

2. Eﬁui !
3. 2

4 Y

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Frfafad 8 | 0 @ 1 Tar F gfafre
FAA 27

Options:

1,

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A W RS Vet 3 APR W e g 7
Options:

1. TR
o AW
5 S

4 qW

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1:.\, ﬁ 1:. F L&Y ﬁl "'\.1:-"'r La .Y z i
fem 27

Options: Qcollegeduniaﬁ



Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TFrAfafEd YrdaE e § 9 e ' 9= sarem
fom®7?

Options:

4 foeet

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T Stent frefafias 8 4+ 91 872
Options:

1 P8 F WY =En

o B F A F Y SEH
- Taef®al & @y <En

y =TETS F 919 S9N

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T fafeen frafatad 5 3 fFEF T 2 au
22

Options:
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

3= gfg TARA H U H H9i9 Efatad |§
Y form v 4 Hafuq 272

Options:

| FIHET TS Y HEAl

5 FHEH AR =H =

3 YR 3HT SER G0

i U 1 SHRA

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Taef®al & s 3= et § 9 fFed
THRA i T F & fore §7

Options:

1 991

4 T

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Freferfaa § 4 =4 o1 areeeEs v 6 2 ?

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cesticn Label | Comprehension

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
Al 54l 21 3o 291 )
Options:
1 sdetell

Al
Ald

dlal

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

AldAraizdl 59 [ azssl Gz susueiui Rrusu-l

w GOL &)
Options:
; Griz-yd

Griz-ulan

2

elae-yd
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
eiide (byte) =1 AlA-Aizdl 2 67

Options:
ARI2AAL {3y

[Llovea Hudll =45y

. sHACllsHL 25 WA

, e[l w5y

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ISRO =4 AlziAmial 2ue s 3u 69

Options:
1 Indian Studies and Result Office

5 International Sea and Rain Office
= Indian Space Research Organization

International Settlements and Reliet
% Organization

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
NASA 4 Al2i-wiall 2ud Al 34 67

Options:
National Architecture and Science
1 Association

National Archeology Studies
> Academy

gcollegedunias



National Aeronautics and Space
z  Administration

4 National Artand Science Association

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Azl 54 &lder dest B o7 Uil [EendiAl
VEEL G YAl Mz 250 20U )

Options:

, dred

¢ I
5 5194

£1G-431A

RETE

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
el £ 391 vt uRAEe 52 57

Options:
sl

o dlldl

= Gl

4 HE

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(ko] oy 54 22 ARG 2% A 28
ey 5]

Options:
slesTl
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o Hoig)

iy " rFl'
2 Y~

Hzd
4. "

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ARl opRcel s 2l sl BARe 2ued
57

Options:

. REAALE

5 @il
L POHECE

Eedl

4.

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Aol sl Ml 2wzl esl SHEerR!
2{1dd 57

Options:

| SERE

=
o AL

5 HEEIE

4 el

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
5el2l (Cavity) [Enal =1 lumizl 2f &7

Options: Qcollegedunias



. seu ol [Eenal

5 el ezl feudl

. oAl el Eenal

g oizell el Bl

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AUl CaleZoray Al 2l 28 dsvumal 97
Options:

; ArsrsY

5 Hleed
EOICEETE PR

=l
4.

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Glau wstrinl $3 225z oL ARl 2udl e
SEIRIEERY

Options:

. HeAzlAL P AR 502

sl wid ofl 2252

M2 #é 53 (Load bearing) (e
54
5 %

A2 U5l (square building)

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine( g fRtign s
No Option Orientation : Vertical onecga b o



Correct Marks: 4 WrongMarks: 1
ol Gluzdl oo, st llAmizl sl wE
ZERL 2 o 2B 57

Options:

L et

, gzl (2tiell)

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

eAlebrrioll 5 212 wudlsrerza 2017

Options:
| el
2i<loz
R T
=,
&H‘:Lj:
4,
Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

DI‘ElW‘iﬂg
416529195
3
Offline
Mandatory
3
3
70
Yes
No

1
416529264
No
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Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes

Correct Marks: 20

(a)

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes

In the space provided in the answer
sheet for this question, draw margin
lines to form a frame. In this frame
create an aesthetic composition using
only curved lines. The shapes created
by these curved lines can be of any
size, and may be placed separate,
overlapping or within each other.
The idea is to produce an aesthetic
and visually exciting composition of
these shapes in the frame without
making it represent any realistic form
like house face etc. The composition
should be filled with some colors of
vour choice so that the visual quality

of the composition is enhanced.
20 Marks

Correct Marks: 20

(a)

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes

WMIFEFIW HE fTu e s
W H e THEE TS 3TN Fd
TU TF Higd T A T JHEER
A H 59 AR R o SR F A
O 8, AN qeA-er, sifasardt an
UHF-gHL F T E TFG E | TH TN E
foamr 70 H o1 safadl #1 v died
4R gt F AH=F T9A1 F1 3T F
2, T foelt arafas aandams &9 =1
gfafafaes &, 99 5 F1 =20 5 |
TrEA] F AT THE F F@ TN G 7Y
T 5 T | 20 Marks

Correct Marks: 20
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(@) A WAL sl M2 AL 2d
oMl §H el HI2 ellR-F il ERL
Wil UL 55 o5 DAL Gulol 53l o
352 dllor oillell 21l 9s izl 22
LA5EL I o ML SIS 25 6. 2l d 218
oflsazll s¢gl, Gluz, & 215 olsa-ll »igz 43l
sl Bl dd B B § sl 2 UsRIAL
Glusiey 571 a2, uda, sral dirlds 34+
oirl et Hgw 2 sderl 2iusEl €
dd, ddsre oy, oA A Hetuzis
il 3l 5 ozell dell el sl
ML 20 Marks

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
(b) Draw the graphic image shown

below to double its size in the space

provided for the answer of this

question. Each component line

should be drawn double its length

and correctly positioned direction

wise as shown in the question figure.

20 Marks

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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(b) == BEE WAE F I E foau
fau T T=E H, $HF T AR F
FA1E | 3T H B 2 AR H AFR
ud fawn wea § <1 T Bfa ¥ g uE
el 9e W Wil o =i |

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes

Correct Marks: 20

20 Marks

(b) Al »ute wls d3erell cen 1 B
dHA ML Y sl ERL £35
(eeel) 2uil denel orsen wul szl
2l WA 20 el dA Al dd W

el el 20 Marks
I \ /
| II I|."
1 II I| J_____.-""
N ——-]'
s, 4
HL\X x.\"'-\.\__\_\__\_ } ___f'
¢ T
Y
/ R
. /
I | \._ \_\_ e II
) — |
II \ |
I"- I| |
Sub-Section Number: 2
Sub-Section 1d: 416529265
Question Shuffling Allowed : No

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes

Correct Marks: 30
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Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes

Design an appropriate pattern for a
curtain for a small girl’s room. Draw
and color it. 30 Marks

OR
Draw a picture of your favorite film
star’s face as realistic as possible.
OR
Draw from imagination a picture of

some people sitting around a
bonfire.

Correct Marks: 30

()

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes

T B IS & FHAL & (o0 U 7S &
foru w S7gF Ted femmea #11 T@
g AR T e 30 Marks
ar
FYTH T FAdEE A9 yHEE fren
T2 i Hed i UF TEER 90 |
ar
T AFFER F SAEIE 93 FF @i
Fl TR FHedT J @i |

Correct Marks: 30

(©)

s Al lsElL Al wssl d eud
[so3iE 520 o 22L 2 1. 30 Marks
PN
el weallAl Befl Biawi udad 2s
STESICTH DR
PPLT
Geua yus eldll (bonfire) -l 2
olzal s2els distd ¥l 2uaEld Ba gkl
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